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REGISTRATION NUMBER : !
EXAM DATE : 11-August-2017
EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 201 - In the following question, select the related word from the given alternatives.

Ampere : Electric current : : Fathom : ?
fArferRad uRe ¥ 3y e femedi # < weferd ores @1 e |
iR ; REFT s w2

Options:

1) Depth of Water
ST Bt TERTE

2) Frequency

3) Sound level
@ ®R

4) Work or energy
Tt 1 ot

Correct Answer: Depth of Water
STt 9 TERTE

Candidate Answer: Depth of Water

T B TERTS

QID : 202 - In the following question, select the related number from the given alternatives.

AKP : 1121256 : : LNO : ?

frfeRad uRe & 3y 70 feredt # 3 deferd e & g |
AKP : 1121256 : : LNO : ?

Options:

1) 196125144

2) 144196225

3) 144225196

4) 41521196
Correct Answer: 144196225
Candidate Answer: [ NOT ANSWERED |

QID : 203 - In the following question, select the related number pair from the given alternatives.

Options:
1)102:9

2)553:6
3)884:2

4) 999 :2
Correct Answer: 999 : 2
Candidate Answer: 884 : 2

QID : 204 - In the following question, select the odd word from the given alternatives.

ferrforRae oRee # Y TG fehedt # < faww w1 &bl =g |
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Options:
1) Baseball
ENEIC]

2) Football

Bcdict
3) Hockey
glept

4) Snooker

TR

Correct Answer: Snooker
TR

Candidate Answer: Snooker

TR

QID : 205 - In the following question, select the odd letters from the given alternatives.

TR uRe & 3y 70 faemedt § 3 faww erert @1 g |
Options:
1) BOH

2) ERK
3) HUO

4) KXQ
Correct Answer: HUO
Candidate Answer: KXQ

QID : 206 - In the following question, select the odd number from the given alternatives.

frfeRead uRe # Ry 70 faeedt # 3 faww e &1 g |
Options:
1) 145

2) 463
3) 581

4) 651
Correct Answer: 463
Candidate Answer: [ NOT ANSWERED ]

QID : 207 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Clocklipe
2. Cloddier

3. Clodpates
4. Clodpolls
5. Clockwise

fforRead wreal @t ereaepTer # T aTet HvH & N fored |
1. Clocklipe

2. Cloddier

3. Clodpates

4. Clodpolls
5. Clockwise

Options:
1) 15234
2) 23154
3) 24315

4) 51234
Correct Answer: 15234
Candidate Answer: 15234

QID : 208 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
efg _ _eff _ghhe _eff _gggh_h

frfeRad qRe # 1Rl &1 B I1 g Wef T IR HRAGR IE F & T8 31eR TR Bl I HM?

efg __eff _ghhe _eff _gggh_h

Options:

1) eghhfe

2) ghhhh

3) hegefh

4) hgefthe
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Correct Answer: hegefh
Candidate Answer: [ NOT ANSWERED |

QID : 209 - In the following question, select the missing number from the given series.
5, 13, 40, 104, ?
frferRad oRe # fay 7T et § i <t 8ich =71 BT |

5,13, 40, 104, ?

Options:
1) 229

2) 239
3) 259

4) 269
Correct Answer: 229
Candidate Answer: [ NOT ANSWERED ]

QID : 210 - The ratio of the present ages of Aman and Ankit is 2 : 1 and the sum of their present ages is 72 years. What will be the Aman's age (in years) after 6 years?

S T SR Tt ARTHIT ST BT SIIUTCT 2 ¢ 1 B TN SFaht aeTe S 3BT AT 72 a9 B | 6 Y 918 37Tt o1y (N ) e B
Options:
1) 30

2) 48
3) 52

4) 54
Correct Answer: 54
Candidate Answer: 54

QID : 211 - There are five girls - R, S, T, P and Q sitting in a row facing north. T is sitting exactly in the middle of the row. Q is sitting to the immediate right and immediate left of P
and T respectively. S is not sitting at the extreme end. Who is sitting third to the left of R?

ofa Afera - R, S, T, P 2N Q TR 5 3R T8 9 W U A S g8 8 | TUHRRI S AA H IS g8 2 | QGRS P AR A T & WA T S g2 2 | S UM & siftm BR R &t 8
R & T &R RR T R I 331 g8 87

Options:

1P

2)Q
3)S

HT
Correct Answer: Q
Candidate Answer: T

QID : 212 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
ERADICATE
fow Mg oRe &, Fferad femedt § & a8 v g S Y Q0 w1 & feRT o1 GRANT e el ST ST HeT 8 |

ERADICATE

Options:

1) AREA

2) CARE

3) DICE

4) TASTE

Correct Answer: TASTE
Candidate Answer: TASTE

QID : 213 - In a certain coded language, 'hit ka tom' is written as 'tie the shoes', 'ka lo fod' is written as 'shoes of leather' and 'lo tin lot' is written as 'leather and raxin'. How is 'of'
written in this code language?

ek fAfdTse e 9o #, 'hit ka tom' @1 'tie the shoes' foTaT STl &, 'ka lo fod' @Y 'shoes of leather' foTRaT STl & T2 'lo tin lot' &1 'leather and raxin' fRET ST 8 | 9 TS 9T § 'of' &Y fobg
RBR forar smgar?

Options:

1) fod

2) ka

3) lo or fod

4)tin

Correct Answer: fod

Candidate Answer: fod
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QID : 214 - If "-" means "added to", "+" means "divided by", "+" means "multiplied by", "x" means "subtracted from", then
13+12x9+3-6=7?
Al " 7 aref SArg” &, " T arel HRT 8, - gt ared T 8, M o 3tk e &,

13+12x9+3-6="7
Options:

1) -117/11

2)117/11

3)-237/12

4)-239/12

Correct Answer: —239/12
Candidate Answer: —237/12

QID:215-1f6 @4 @ 7=101and 2 @ 5 @ 11 = 150, then what is the valueof Ain A @ 8 @ 9 = 289?

AM6@A4@7=101TM2@5@11=150& NA @8 @ 9 =289 H, A T AN T &?
Options:

15

2)8

3) 12

417

Correct Answer: 12

Candidate Answer: [ NOT ANSWERED ]

QID : 216 -
In the following question, select the number which
can be placed at the sign of question mark (?7) from
the given alternatives.

reafafea ux # ffr om fareur & @ un B
(?)% T W HH aret TEA F g

20 | 72 90 | 110 56 | ?

213]|6 3|1 714 |1}.7|6

Options:
1) 112

2) 144
3) 156

4) 186
Correct Answer: 156
Candidate Answer: [ NOT ANSWERED ]

QID: 217 -
How many triangles are there in the given figure?

& 16 st 3 Pt fhager ¥

Options:
1)13

2)14
3)15

4) 16
Correct Answer: 15
Candidate Answer: 13
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QID : 218 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some banks are private.
II. All private are industry.

Conclusions:

1. Some banks are industry.
II. All banks are industry.

i3 g 70 Re # B o &R S a1e 9 e R N $B fFend iy 0 €, greifes S e S el | e 2 Fench 2 |t feend ug sik bR FreiRa o fon fag o sl &
foreepd, Ry 70 ol & MR R IR |

DU

1. % o Fof € |

11 T4t foroft SeirT & |

e

1. 56 o Sem § |

1L ft o5 e € |

Options:

1) Only conclusion (I) follows.

Faet Fred (1) Tt 2 |

2) Only conclusion (II) follows.

et frepd (1) W& 2 |

3) Neither conclusion (I) nor conclusion (II) follows.
A fereepd (1) e = & foreeed (1) T 2 |

4) Both conclusions follow.

1 & s W £ |

Correct Answer: Only conclusion (I) follows.
Faet fred (1) Tt & |

Candidate Answer: Only conclusion (T) follows.

et foeeps (1) &1 & |

QID: 219 -
From the given options, which figure can be formed
by folding the figure given in the question?

Rreaffs et 3 @ @ @ 97 JEhy T
# & 72 wEfY F AFHT Wilg S GehaT &7

‘-&hwmm
w
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Options:
1

2)
1
5
3
3)
6
5
3
a)

5 2

Correct Answer:

1
2

Candidate Answer:

1

3

d
2

QID : 220 - Identify the diagram that best represents the relationship among the given classes.
Animal, Leopard, Lion

a8 AN YA it =it &g g il o it 2 el el e FIRATT Bt € |

SR, g, 3R

Options:
1)

Correct Answer:
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Candidate Answer:

QID : 221 -
Which answer figure will complete the pattern in the
guestion figure?

Hid O IR AHFA UF WHa & ulAwT & g
FLaM?

*~J

Options:
1)

Correct Answer:

.

Candidate Answer:

-
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QID : 222 -
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From the given answer figures, select the one in

which the question figure is hidden/embedded.

& 7% 39T AT H ¥ 3@ W AP o g°w
orw & oy sl BT

Options:
1)

_*_

Correct Answer:

=

Candidate Answer:

A
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QID : 223 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

= & uH Wplaar A G HgER dEE H
AIZHhT Ted dUT Wiad & d1g g% g IaT AP
s e gem?

Options:
1)

OOOO
o]
o
o0

o0

Correct Answer:

OOO

Q

o]
000

Candidate Answer:

o® %

00 OO
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QID : 224 -
If a mirror is placed on the line AB, then which of
the answer figure is the right image of the given
figure?

Ifg e gUur @Y AB @1 W TGN ST, dar & T
IO FpOal # ¥ Bid @ FGfa U e &
e ulafasa gnfr?

A

m

Options:
1)

Correct Answer:

Candidate Answer:

ol
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QID : 225 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrixdl are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘F’ can
be represented by 03, 34, etc., and ‘A’ can be represented by 31, 43, etc.
Similarly, you have to identify the set for the word “RATES”.

TH (G Hdd UF TEI-HIE NI GRIET T § ool 6 adeut # &
Rl w A fEmn an §) Rwedl # Bu v gemr-uep el & g a9t
arr e aw § Shar B R Ro e g smegd A ¥ anegp & woEn
3y ufeh i F=ar 0 & 4 & 92 ¥, 3R IegEN H 5 F 9| 3 IEgp &
UEH EH B Ueel 3T URs AR A & Toew gman grn grim aran g
3eeRT & faw P @t 03, 34, TS ST gutaT o @@ § T AT A 31,
43, Jfe grT gRfAT 1 FHaT {1 3 O @ IWUS UH # QU T Aeq
“RATES” & T Tp @ updiean &1

Matrix-| Matrix-Il
HIE-| gl
011234 5|6(7|8|9
O0|A|G|R|F|E 5|T|IP|U|S|O
1[F|E|A|G|R 6|S|/O[T|P|U
Z[G[R[F[E[A 7|P[U[S[O[T
3|IE|A|G|R|F 8|0|T|P LUJ4S
4|R|F|E|A|G 9|U|S|O)T P

Options:
1) 33, 00, 98, 30, 88

2) 14, 43, 55, 11, 68
3) 21, 24, 86, 42, 56

4) 02, 12, 67, 04, 96
Correct Answer: 02, 12, 67, 04, 96
Candidate Answer: 02, 12, 67, 04, 96

QID : 226 - Courier service comes under which sector?

e {1 R &R o TR ST 27
Options:

1) Primary

i

2) Secondary

fcfa

3) Tertiary

4) Both Secondary and Tertiary
<l Ton et St

Correct Answer: Tertiary

Candidate Answer: [ NOT ANSWERED ]

QID : 227 - Which among the following is not a direct tax?

fferRad & & 1 A1 Uoh UReae] A TE 82
Options:

1) Income tax

KIBCaY

2) Wealth tax

fufi R

3) Corporate tax

PHIART HY

4) None of these

T A P T

Correct Answer: None of these
T Y PIS TE

Candidate Answer: Corporate tax

PR H
QID : 228 - Which of the following is justiciable in nature?

forferRad & § I ST waTfYes o < =rgef 82
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Options:

1) Fundamental Duties

wifer e

2) Directive principles of state policy
54 F i

3) Fundamental Rights

Hiferes STfPR

4) None of these
ST S P
Correct Answer: Fundamental Rights

Hifern 1R

Candidate Answer: Fundamental Rights

Hifern arftpR

QID : 229 - Which of the following Amendments is also known as the '"Mini Constitution' of India?

FfeRad weier & & fpY YR 1 "o1g] A 1t e e 22
Options:

1) 7" Amendment

7 ot e

2) 42" Amendment

42 9f Sene

3) 44™ Amendment

44 9f ehe

4) 74" Amendment

74 af e

Correct Answer: 42" Amendment
42 9f Rhe

Candidate Answer: 42"4 Amendment
42 9f e

QID : 230 -
Match the following.

IGESIGECGRC AR CIGRCI |

Column -1
=H-|

1. Brihadeswara Temple
gEAT AT

2. Dilwara Temple b.
feeramer #Afex

3. Lingraja Temple C:
o Afex

4. Hampi Group Monuments d.
it § TR T THE

2

Options:
1)1-¢,2-d,3-a,4-b

2)1-a,2-¢,3-d,4-b
3)1-b,2-d,3-a,4-c¢

4)1-b,2-a,3-d,4-c¢
Correct Answer: 1 —b,2-d,3-a,4-¢
Candidate Answer: 1 —b,2-d,3-a,4-c

Staff Selection Commision

Column- I
= - i
Qdisha
Hifzem
Tamil Nadu

CIEEEIE

Kamataka
Heled
Rajasthan
ALY

QID : 231 - In which battle was Siraj ud-Daulah defeated by Lord Clive?

S HeEd 7 RRTSEI 1 o=y Zg  &vman om?
Options:

1) Battle of Plassey

IRA BT g

2) Battle of Buxer

IR DT I 5

3) Battle of Panipat

AT BT g5

4) Battle of Haldighati

gearae! B gg
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Correct Answer: Battle of Plassey

IR BT g
Candidate Answer: Battle of Plassey
IRA BT g5

QID : 232 - Alps mountain range is located in which continent?

Yoot qdd TR foh FRTeIY & Reerd 82
Options:
1) Europe

2) North America
IR 3R

3) South America
afayor smRept

4) Africa

Correct Answer: Europe

Candidate Answer: Europe

S

QID : 233 - What is the full form of ITCZ?

3T S S, T SrifeI WY w82

Options:

1) Inter tropical converter zone

IR STfeddty gRadi® &R

2) Inter tropical convergence zone

CN ]

3) Inter tropical centre zone

3R SwRpfedERa B &R

4) None of these

T A IS T

Correct Answer: Inter tropical convergence zone
IR ORI AR

Candidate Answer: Inter tropical convergence zone

TR SUTfede AR &R

QID : 234 - Which among the following does not have a cell wall?

FrforRed # 3 forsy # ap1frent My 78 art 82
Options:
1) Euglena

R

2) Paramecium
3) Gonyaulax
4) Mycoplasma

Correct Answer: Mycoplasma
AT AT

Candidate Answer: Euglena

AT

QID : 235 - Which among the following is also called as 'power house of the cell”?

frferRad § & foreren! "BIfIeT o1 AIfeRTE’ *t e S 22
Options:

1) Plastids

o

2) Mitochondria

3) Golgi bodies
et

4) Cell wall
PifRenT PAfRT

Correct Answer: Mitochondria

Candidate Answer: Mitochondria

ERB TR

QID : 236 - What is the role of Pneumatophores?

FHSBRN 1 1 B BXell €2
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Options:

1) Protect plant from animals

e Y SITRT < T &

2) Get oxygen for respiration

T o o1 SifeRfoT qRE BRell &

3) Supports plant in standing upright

G T e TS e H TR PHRaT &

4) Helps plant for pollination

dte) a5t RTeT ¥ W e &

Correct Answer: Get oxygen for respiration
a9 & o1 ifeRfSH qREH Rl &
Candidate Answer: [ NOT ANSWERED |

QID : 237 - Which among the following determines the pitch of a sound?

frfeRad § ¥ =it Sa=Ee () 1 i FeiRa e &2
Options:

1) Amplitude

JIH

2) Frequency

3) Loudness

ReTeTeT
4) Wavelength
GRSECH

Correct Answer: Frequency

amaf

Candidate Answer: [ NOT ANSWERED ]

QID : 238 - Which phenomena shows the particle nature of light?

I Xt T UReBTE & YT qReBRT b et &2
Options:
1) Diffraction

2) Interference
AR

3) Photoelectric effect

RYT

4) Polarisation

Correct Answer: Photoelectric effect
RPI3 aEljl RHT

Candidate Answer: Photoelectric effect

RGBT XA

QID : 239 - Who is called as 'Father of Modern Computer'?

"M IR BT ST’ Y e ST 82
Options:

1) Alexander Fleming

ITATIER FeA AT

2) Bill Gates

e e

3) Micheal Faraday
AT TS

4) Charles Babbage
T a4

Correct Answer: Charles Babbage

EISiErS|

Candidate Answer: Bill Gates

et

QID : 240 - What is the common name of CaOCl,?

CaOCl, &1 AMI AT T §?
Options:

1) Baking Powder
ElERIRISEH

2) Baking Soda

CEAIS

3) Bleaching Powder
A TeeR

4) Washing Soda
&1 T T

Correct Answer: Bleaching Powder
ESIERESIRS

Candidate Answer: Baking Soda
EEaNIS)

Staff Selection Commision
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QID : 241 - What is the common characteristic of the elements of the same group in the periodic table?

et Rt § T Aot o g e R = @t @2
Options:

1) Electrons in outer most shell

I el § gt

2) Total number of electrons
ERESEEIEIRIE

3) Total number of protons

T RS B e

4) Atomic weight

URHATIL HIR

Correct Answer: Electrons in outer most shell
TTEIH el § gerdexiT

Candidate Answer: Atomic weight

TRATI 9R

QID : 242 - Which disease is caused by Nickel?

I T T et 3 BRI BTl 82
Options:

1) Itai Itai

R 3T

2) Dermatitis

CEINIE

3) Learning disability

e Y et

4) Asthma

<Al

Correct Answer: Dermatitis
[SEIKIDE

Candidate Answer: Learning disability

NiicREdl

QID : 243 - When was 'Pregnancy Aid Scheme' launched to help pregnant women financially with Rs. 6000?

Mgt wfgemsii B 6000 SR T A< e WREH BR & oY TRl eI AT el 3RY 3 IR off?
Options:

1) 1 December, 2016

1 faEeR, 2016

2) 19 December, 2016

19 f=ieR, 2016

3) 31 December, 2016

31 =R, 2016

4) 1 January, 2017

1 SHaRt, 2017

Correct Answer: 31 December, 2016
31 f&RieR, 2016

Candidate Answer: 19 December, 2016
19 =R, 2016

QID : 244 - Who pioneered diagnostic ultrasound?

A (SEIRCH) eSS B @il fhe di?
Options:

1) Alexander Fleming

ST FAFT

2) Ian Donald

I oS

3) A. Laveran

Q. =T

4) Robert Koch

Rfae P

Correct Answer: Ian Donald
I SIS

Candidate Answer: A. Laveran

T, SRA

QID : 245 - Which of the following pair is CORRECT?

1. Summer Olympics 2020 - Tokyo
II. Summer Olympics 2016 - Rio de Janeiro
II1. Summer Olympics 2012 - London

FreferRaa & J i a1 | TE 22

1. TS 3fefdyes 2020 - St
11. TS 3fefdges 2016 - R fg SR
111, T 3R 2012 - weT
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Options:

1) Only I and IT
et [ qm 11

2) Only I and IIT
et [ @ 11

3) Only II and III
Faet 11 T2 111

4) All are correct

T e &
Correct Answer: All are correct

SCISEE

Candidate Answer: Only I and II
ae [ qer 11

QID : 246 - Prime Minister of which country attended the recently organised river festival Namami Brahmaputra' in India?

f2hvT 391 & RTH 7 BTt € & YR & I et aReryeR et weteda # i for em?
Options:
1) Bhutan

e

2) China

4

3) Nepal
e

4) Bangladesh
EUCIEk)

Correct Answer: Bhutan

Candidate Answer: Bhutan

e

QID : 247 - Who among the following has been awarded the 'Rajiv Gandhi Khel Ratna Award' for the year 2016?

frfoRad # 3 ford ad 2016 & 1ol el Vel T REPpR' | TR fobam = 22
Options:
1) Jitu Rai
STRL ™
2) Sania Mirza
it fort
3) Rohit Sharma
T

4) Babita Kumari
CEISIEIN]
Correct Answer: Jitu Rai
lw
Candidate Answer: Babita Kumari

et AR
QID : 248 - Who is the author of the book 'Akhada: The Authorized Biography of Mahavir Singh Phogat'?

IS : 3 SifeRTgTe TR Sifth HETER Rig BFTE! & oiEh B 2?
Options:

1) Rabi Thapa

<6t et

2) Saurabh Duggal

Ry g

3) Salman Rushdie
[ B

4) Tana French
T W

Correct Answer: Saurabh Duggal
Candidate Answer: [ NOT ANSWERED ]

QID : 249 - With which Australian University Indian Railways has signed an agreement for Dedicated Freight Corridor?

fr eieforaTs fvafener & A1 YR X1 SSihcs BRISE BIRSR P o Tagian foban &7
Options:

1) Monash University

AT freafiene

2) Victoria University
[EECIRRIREREIEDICE]

3) University of Canberra
4) University of Sydney
et fareafaermer

Correct Answer: Monash University

Candidate Answer: University of Sydney

Rret freafiemer™
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QID : 250 - With which neighbouring country of India, Kaladan multi-model transport project has been undertaken?

UR 7 AU 5 TSR <M P 12T BTG Hecl-Hiedt JTrTe Aot T il 3R fobam &2
Options:

1) China

Ciil

2) Nepal

arer

3) Bhutan

e

4) Myanmar

=R

Correct Answer: Myanmar

R

Candidate Answer: [ NOT ANSWERED ]

QID : 251 - If the square of sum of three positive consecutive natural numbers exceeds the sum of their squares by 292, then what is the largest of the three numbers?

Ife; f+ BRANTA HTHD RIpIeh TN b N7 T avf I <ieanaif & aeif o a1 § 292 3ifdres &, a i # & e ot e b ot 22
Options:

1)5

2)6

3)7

4)8
Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]

QID : 252 - A can do a piece of work in 6 days working 8 hours a day while B can do the same work in 4 days working 10 hours a day. If the work has to be completed in 5 days, so
how many hours do they need to work together in a day?

A GRS 8 6 B Fh Toh B bl 6 3 # Ux1 vt &, STaifh B GRIcier 10 ©S 1 e St 1 bl 4 o § qR1 vl € | AfS o bl 5 o # U1 v &, 1 Q1T bl fAieren) Uk o H
fope € BT AT BINT?

Options:

14

2)

4

il
3)

6

4

gt
1

—

4
40

Correct Answer:

4
*h

Candidate Answer: [ NOT ANSWERED |

QID : 253 -
In the given figure, the length of arc BC of the given
circle is 44 cm. If O is the centre of circle, then what is
the radius (in cm) of the circle?

& m arefa A, By 9w g3 fr =m0 BCHr == 44
A ¥ o Oga & Feg &, A g7 & ==
(@ ;) Fam
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Options:
17

2)14
3)28

4) 35
Correct Answer: 28
Candidate Answer: [ NOT ANSWERED ]

QID : 254 - A shopkeeper allows 25% discount on the marked price of an article and he suffered a loss of 15%. What will be the profit percent if the article is sold at marked price?

Ueh PTER Geb G o 3Hfehel Hed TR 25% 1 e <ol & A I 15% bt &1 8t & | Ife 9= 1 3ifpat Hear R = i1, a1 fobemy qRfcreray a1 @ 8r?
Options:
1) 11.76

2)12.12
3)13.33

4) 14.28
Correct Answer: 13.33
Candidate Answer: [ NOT ANSWERED ]

QID : 255 - Three boxes of capacity 24 kg, 36 kg and 84 kg are completely filled with three varieties of wheat A, B and C respectively. All the three boxes were emptied and the three
types of wheat were thoroughly mixed and the mixture was put back in the three boxes. How many kg of type A wheat would be there in the third box (in kg)?

i e RorTast emet 24 fo5.TRT., 36 fo5.TRY. o 84 5.1, 8, 1 <9 ke @l 1 =Aen: A, B N1 C A TR E | i1 e et 3 3 St & e i RepR & 715 o 372 & e &
e, fARReT 1 fOR & < feedi # +R1 SIa 8 | AR R & A areft 7 &t A (p. 1. ) foperh anfte

Options:

1) 10

2) 12

3)14

4) 16

Correct Answer: 14

Candidate Answer: [ NOT ANSWERED ]

QID : 256 - A group of boys has an average weight of 36 kg. One boy weighing 42 kg leaves the group and another boy weighing 30 kg joins the group. If the average now becomes
35.7 kg, then how many boys are there in the group?

STl b Teb g o ST HR 36 6.7, & | Teb eTgent RiIept WR 42 6. 7R, & 98 HE N =iell Sl & ST Ueh 34 oTgehl RORTepT ¥R 30 .71, 2, g & wnfiiet 81 el @ | af <awg o aikerat
R 379 35.7 {5, 7). &, T g & fohe orgh &2

Options:
1) 30
2) 32
3) 40

4) 56
Correct Answer: 40
Candidate Answer: [ NOT ANSWERED |

QID : 257 - A man gains 15% by selling a calculator for a certain price. If he sells it at the triple the price, then what will be the profit percentage?

T ShereicR Pl Gep (MRad dFd IR So UR G At Bl 15% T 1 BT 8 | IfS a8 S herdeiey i <+ T i OR 99, T A qRIrret am 8rme
Options:

1) 125

2)175

3) 225

4) 245

Correct Answer: 245
Candidate Answer: 245

QID : 258 - In an election between two candidates, the winning candidate has got 70% of the votes polled and has won by 15400 votes. What is the number of votes polled for
loosing candidate?

1 SRfieaR] & &t gU T g 4, faort SRfiear &1 et wal BT 70% ORTT §3T el 98 15400 Al | STl | ER dTel SIaR B et A fier?
Options:
1) 38500

2) 11550
3) 26950

4) 13550
Correct Answer: 11550
Candidate Answer: 11550
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QID : 259 - A boat goes 4 km upstream and 4 km downstream in 1 hour. The same boat goes 5 km downstream and 3 km upstream in 55 minutes. What is the speed (in km/hr) of
boat in still water?

U A1 1 8¢ H 4 5.1, o1 % qRfiigret o 4 5 AR, o1 & Srget S 2 | 3t A 55 fAee A 5 5. o1 o arget aen 3 R et % wRfvige Sich ® | Rer et # @ @it fy (fp R e
) @ &2

Options:

165

2)7.75

3)9

4)10.5

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID : 260 - Simple Interest received by a person in 10 years on a principal of Rs 9500 is 130% of the principal. What is the rate of interest (in %) per annum?

Tep feRT 3 10 a6t & 9500 % % HALH TR TelelH bl 130% LR TSl URIT b & | <1t @t anfiies &R (% H) a1 &2
Options:

112

2)13

3)15

419

Correct Answer: 13

Candidate Answer: 13

QID : 261 - For what value of k, the expression x%—18x3 + k will be a perfect square?

k % frr AT o forg =ietes %6 — 18x3 + k Teb gt vt 2
Options:
1)-9

2)-81
3)+9

4) +81
Correct Answer: + 81
Candidate Answer: [ NOT ANSWERED ]

QID : 262 -

if B+ x++5-x

— =3, then whatis the value of x?

5 —
5+x—--/5-x

:-Tﬁ \|'5+X+\|'5—X _
B x =a5—x

3.&, a3t x &1 AT =T 2

Options:
1) 5/2

2) 25/3
3)4

4)3
Correct Answer: 3
Candidate Answer: 5/2

QID : 263 - If (x +y + z) = 12, Xy + yz + zx = 44 and xyz = 48, then what is the value of x3 + y3 +7%?
IR (x+y+2)=12, xy+yz+zx=44621TxyZ:48%,Eﬁx3+y3+Z3EFIHF-TER1T%?

Options:

1) 104

2) 144

3) 196

4) 288
Correct Answer: 288
Candidate Answer: [ NOT ANSWERED ]
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QID : 264 -
If x=4—V{a_b,then what is the value of
35+
x+2J§+x+2\fB (when a =b)?
x—2Ja_ x—2JB
4Jab x+2Ja x+2Jb
Ofg x= ————7@, ar e
B ™ s il
T AT FAT & (IT a=b TN)?
Options:
1)0
2)2
3)4

4) (Va + vb)/(Va—Vb)
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 265 - In a triangle PQR, £Q = 90°. If PQ = 12 cm and QR = 5 cm, then what is the radius (in cm) of the circumcircle of the triangle?

U RRYST PQR &, £Q =90°8 | AR} PQ = 12 .. e QR = 5 .. 8, O RRye & uRa< & fogoan (3. #) aan &2
Options:

15

2)6

3)6.5

4) 6v2
Correct Answer: 6.5
Candidate Answer: 6.5

QID : 266 - If a chord of a circle subtends an angle of 30° at the circumference of the circle, then what is the ratio of the radius of the circle and the length of the chord respectively?

I gep g1 Y Sitar Sat aRFY IR 30° 3T 1o SR 7, T A G @t RSl eI Sitar a5t oTvaTs T SIuTe T §?
Options:

H1:1

2)2:1

3)3:1

HV2:1

Correct Answer: 1: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 267 - The tangents drawn at points A and B of a circle with centre O, meet at P. If ZAOB = 120° and AP = 6 cm, then what is the area of triangle (in sz) APB?

R O TTet g3 0% Rerct g A e B & vt Y@ @i+ 7€ 2, S fig P R et 8 | afd ZAOB = 120° T2 AP = 6 9.1, &, o RS APB o1 &Rt (1.41.2 ) 22
Options:
1) 6v3

2) 8V3
3)9

4)9v3
Correct Answer: 9V3
Candidate Answer: [ NOT ANSWERED ]

QID : 268 - P is a point outside the circle at distance of 6.5 cm from centre O of the circle. PR be a secant such that it intersects the circle at Q and R. If PQ = 4.5 cm and QR = 3.5
cm, then what is the radius (in cm) of the circle?

P, g1 o aTeR U fdig 2 et gt 39 90 & e O /¥ 6.5 A 8 | PR, U B & 51 g1 1 Q T R TR URRIEDE _ell 2 | X PQ = 4.5 AR, T2 QR = 3.5 3.1, &, It g o fowgsan (I
)

Options:

115

2)2
3)25

43

Correct Answer: 2.5
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Candidate Answer: [ NOT ANSWERED ]
QID : 269 - What is the value of [1/(1 — tan 6)] — [1/(1 + tan 8)]?
[1/(1 — tan 8)] — [1/(1 + tan ©)] T 71 1 &2
Options:
1) tan 6
2) cot 20

3) tan 20

4) cot 0
Correct Answer: tan 20

Candidate Answer: cot

QID : 270 - If tan 6 + cot 6 = x, then what is the value of tan* 0 + cot* 0?

I tan 0 + cot 0 = x &, & tan? 6 + cot* O T A FATE?
Options:
1) (x3-3)2+2

2) (x*-2x) +4
3)x(x—4)+2

4) XZ(XZ —4)+2
Correct Answer: x2(x? — 4) + 2
Candidate Answer: [ NOT ANSWERED ]

QID : 271 - If tan? 8 + cot? § = 2, then what is the value of 25¢c 8 .cosec 85

Ife tan? 0 + cot? 0 = 2 &, & 25¢¢ O cosec O g7 a1 gy Err?
Options:

10

2)1

3)2

44
Correct Answer: 4
Candidate Answer: 4

QID : 272 -

Staff Selection Commision

The table given below represents the amount of
education loan (in crores) disbursed by 5 banks of a

country over5 years.

SRS @S arforeer A T 2r & 5 ey Ery 5 aut #
frem & far foafa T o =or (U=t ) & g

T ¥

Amount of education loan disbursed (in crores)
Year fRrem & fow faaRa 3or &1 iy (=t )
a4 | Bank 1 Bank2 | Bank3 | Bank4 | Bank 5
I 1 CCip) d53 d64 d55
2010 265 65 138 109 80
2011 295 118 165 123 103
2012 317 85 195 125 140
2013 323 103 178 142 143
2014 362 122 211 157 158

‘What is the percentage increase in education loan disbursed by Bank 2 from 2010 to 2014?

2010 ¥ 2014 T §a 2 F gRT R1en & forg fraRa o & fray Rt #t afg g€ 22
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Options:
1) 85.42

2) 87.69
3)89.21

4)83.18
Correct Answer: 87.69
Candidate Answer: [ NOT ANSWERED ]

QID : 273 -
The table given below represents the amount of
education loan (in crores) disbursed by 5 banks of a
country over5 years.

@ & o$ e # U Iy & 5 FB Eny 5 9wt A
e & o fefe fr ar xor (@0 &) @ g
arar &

Amount of education loan disbursed (in crores)

Year foram & fav faaRa =or & ufd (FAT )

GL Bank 1 Bank 2 | Bank 3 | Bank 4 Bank 5
da 1 g2 d03 da4 da5
2010 265 65 138 109 80
2011 295 118 165 123 103
2012 317 85 195 125 140
2013 323 103 178 142 143
2014 352 122 211 157 158

Which banks show a continuous trend of increase/decrease in loan amount disbursed over 5 years?

Tt Jopt ot faraRat ot ot IR A 5 auf o FReR afg orer it g8 27
Options:

1) Bank 1 and Bank 4

§op 1 T2 9 4

2) Bank 1, Bank 4 and Bank 3

§ 1, § 4 T2 9 3

3) Bank 1, Bank 4 and Bank 5

§ 1, § 4 T2 §6 5

4) Bank 4 and Bank 5

§ 4 qer § 5

Correct Answer: Bank 1, Bank 4 and Bank 5
§% 1, 9 4 A2 I 5

Candidate Answer: Bank 1, Bank 4 and Bank 5
§ 1, §a4 T2 96 5
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QID : 274 -
The table given below represents the amount of
education loan (in crores) disbursed by 5 banks of a
country over 5 years.

& & aE arforeRr & ues 2or F 5 d Ery 5 auf A
forem ¥ T fafE @ o =oT (U=t &) & g
&

Amount of education loan disbursed (in crores)

Year foram & for faafa 3or & ol (FE /)

ag Bank 1 Bank 2 Bank 3 Bank 4 Bank 5
da1 dan2 da3 da4 da 5
2010 265 65 138 109 80
2011 295 118 165 123 103
2012 317 85 195 125 140
2013 323 103 178 142 143
2014 352 122 211 157 158

What can be said about the two following ratios?

1. Loan amount disbursed by Bank 1 in 2011/ Loan amount disbursed by Bank 2 in 2014
II. Loan amount disbursed by Bank 3 in 2014/ Loan amount disbursed by Bank 4 in 2011

ffeRad < SruTel % AR A T el S Febell 27

1. 2011 ® §& 1 gR1 R o 2014 ¥ §a 2 grT faaRa o
11. 2014 ¥ § 3 g1 IR o/ 2011 ¥ ¥ 4 g1 RaraRa ot
Options:

1HI>11

2)I<II

3)I=1I

4) No relation

IS Feiy T &

Correct Answer: [ > 11

Candidate Answer: [ > II

QID : 275 -
The table given below represents the amount of
education loan (in crores) disbursed by 5 banks of a
country over5 years.

& & o anforeRr & ues 2or &F 5 e gry 5 auf A
frem & T RefE & o moT (FUEt ) & g
T &

Amount of education loan disbursed (in crores)

Year frem & faw faafa 3gor 1 afr (=T 6

ag Bank 1 Bank 2 | Bank 3 | Bank 4 Bank 5
da1 da2 da03 da4 da 5
2010 265 65 138 109 80
2011 295 118 165 123 103
2012 317 85 195 125 140
2013 323 103 178 142 143
2014 ab2 122 211 157 158

Which of the following is the correct order of percentage increase in loan amount disbursed by the given banks from 2010 to 2014?

2010 3 2014 Tep 3T Y bt b R by T fadRe wvr @t ¥ # uRfrer afy ot i a1 FrferRaT e e &2
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Options:

1) Bank 3 > Bank 5 > Bank 2 > Bank 1 > Bank 4
§F3>FH5>dF2>H1>JF 4

2) Bank 2 > Bank 3 > Bank 5 > Bank 1 > Bank 4
§F2>FH3>dH5>FH1>TF 4

3) Bank 5 > Bank 2 > Bank 3 > Bank 4 > Bank 1
§B5>Fp2>FF3>TH4>TF 1

4) Bank 2 > Bank 5 > Bank 4 > Bank 3 > Bank 1
§B2>dR5>TH4>FH3>FH 1

Correct Answer: Bank 5 > Bank 2 > Bank 3 > Bank 4 > Bank 1
§p5>TFH2>dF3>TH4>TF 1

Candidate Answer: [ NOT ANSWERED ]

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is
free from error, select 'No error'.

Ritika decided to get up early (1)/ to wear a nice dress (2)/ and visit her aunt. (3)/ No Error (4)
Options:

1

2)2

3)3

44

Correct Answer: 3

Candidate Answer: 2

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is
free from error, select 'No error'.

The student asked me if (1)/ I knew that Kalidas was the greater (2)/ than any other poet. (3)/ No Error (4)
Options:

1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 3

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by selecting
the appropriate option.

It is mainly due to Peter's lethargy that the plan fell g
Options:

1) off

2) through

3)in

4) out

Correct Answer: through

Candidate Answer: off

QID : 279 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by selecting
the appropriate option.

Mother shall return an hour.
Options:

1) in

2) after

3) during

4) within

Correct Answer: within

Candidate Answer: in

QID : 280 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Surreptitious

Options:

1) Hesitation

2) Secret

3) Impious

4) Artless

Correct Answer: Secret

Candidate Answer: Secret

QID : 281 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Inanition
Options:

1) Lethargy
2) Offensive
3) Vaccilating
4) Grasping
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Correct Answer: Lethargy

Candidate Answer: Vaccilating

QID : 282 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Imbroglio
Options:

1) Misery

2) Censure

3) Composure
4) Dilemma

Correct Answer: Composure

Candidate Answer: Composure

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Bequest
Options:

1) Accord
2) Damage
3) Complex
4) Withdraw

Correct Answer: Withdraw
Candidate Answer: Withdraw

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Adam's ale

Options:

1) Gift

2) Food

3) Water

4) Belongings

Correct Answer: Water

Candidate Answer: Belongings

QID : 285 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

At one's wits end
Options:

1) A man of ability

2) At the last moment

3) To get puzzled

4) Undecided controversy

Correct Answer: To get puzzled
Candidate Answer: To get puzzled

QID : 286 - Improve the bracketed part of the sentence.

I had not completed my project so I thought I was (done with) when the manager asked me to hand it in.
Options:

1) done for

2) done in

3) done on

4) No improvement

Correct Answer: done for
Candidate Answer: No improvement

QID : 287 - Improve the bracketed part of the sentence.

Rohan was upset and so (picked up) his food while his cousins ate heartily.
Options:

1) Picked out

2) Picked on

3) Picked at

4) No improvement

Correct Answer: Picked at
Candidate Answer: Picked out

QID : 288 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

To give up a throne voluntarily
Options:

1) Archer

2) Bigot

3) Abdicate

4) Delegate

Correct Answer: Abdicate

Candidate Answer: Abdicate
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QID : 289 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Words written on the tomb of a person
Options:

1) Epigram

2) Epitome

3) Epicure

4) Epitaph

Correct Answer: Epitaph

Candidate Answer: Epitaph

QID : 290 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Accurate

2) Business

3) Sedentery

4) Jewellery

Correct Answer: Sedentery

Candidate Answer: Sedentery

QID : 291 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Chaufer

2) Committee

3) Veterinary

4) Repentance

Correct Answer: Chaufer

Candidate Answer: Chaufer

QID : 292 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent paragraph.

P- They never desert us even when all fair weather friends have deserted us.

Q- Books are never failing friends.

R- They dispel the dark clouds of gloom from our minds and increase our happiness if we are already happy.
S- Through the ages, the scriptures and other great books have provided, immeasurable solace to the wounded and strife torn humanity.
Options:

1) QRSP

2) PRSQ

3) RSPQ

4) QPRS

Correct Answer: QPRS

Candidate Answer: QPRS

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent paragraph.

P- When the robber was near her bed, she stood up suddenly, 'brandishing the knife.
Q- One night the robber did enter her room but Lakshmi did not make any sound.
R- She just kept a tight hold of the knife and pretended to be sound asleep.

S- The robber was taken aback-and with a loud cry, he ran out.

Options:

1) SQRP

2) PRQS

3) QRPS

4) PSQR

Correct Answer: QRPS

Candidate Answer: QRPS

QID : 294 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses the same sentence in
Passive/Active voice.

I will write an essay.

Options:

1) An essay will have been written by me.
2) An essay will be written by me.

3) An essay has been written by me.

4) An essay had been written by me.

Correct Answer: An essay will be written by me.

Candidate Answer: An essay will be written by me.

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses the same
sentence in Indirect/Direct speech.

Neha said, "Need I write a letter?"
Options:

1) Neha asked if she have to write a letter.

2) Neha asked if she had been writing a letter.
3) Neha asked of writing a letter.

4) Neha asked if she had to write a letter.
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Correct Answer: Neha asked if she had to write a letter.

Candidate Answer: Neha asked if she had to write a letter.

QID : 296 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives.

The quest for a life engrosses every human being on this earth. Everyman tends to define a happy life in a individualistic fashion. have attempted to define a happy

life in various terms. Hedonists have a notion that happiness lies in the of physical appetites.

The quest for a life engrosses every human being
Options:

1) simple

2) sad

3) happy

4) real

Correct Answer: happy

Candidate Answer: happy

QID : 297 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives.

The quest for a life engrosses every human being on this earth. Everyman tends to define a happy life in a individualistic fashion. have attempted to define a happy

life in various terms. Hedonists have a notion that happiness lies in the of physical appetites.

on this earth. Everyman tends to define a happy life in a individualistic fashion.

Options:

1) distinctly

2) identically

3) similar

4) serious

Correct Answer: distinctly

Candidate Answer: distinctly

QID : 298 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives.

The quest for a life engrosses every human being on this earth. Everyman tends to define a happy life in a individualistic fashion. have attempted to define a happy

life in various terms. Hedonists have a notion that happiness lies in the of physical appetites.

have attempted to define a happy life

Options:

1) Professors
2) Thinkers

3) Researchers
4) Scientists

Correct Answer: Thinkers

Candidate Answer: Researchers

QID : 299 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives.

The quest for a life engrosses every human being on this earth. Everyman tends to define a happy life in a individualistic fashion. have attempted to define a happy
life in various terms. Hedonists have a notion that happiness lies in the of physical appetites.

in various terms. Hedeonists have a notion
Options:

1) complex

2) distinct

3) varied

4) simple

Correct Answer: simple

Candidate Answer: simple

QID : 300 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives.

The quest for a life engrosses every human being on this earth. Everyman tends to define a happy life in a individualistic fashion. _____have attempted to define a happy
life in various terms. Hedonists have a notion that happiness lies in the of physical appetites.
that happiness lies in the of physical appetites.

Options:

1) gratification

2) simplification

3) purification

4) identification

Correct Answer: gratification

Candidate Answer: identification





